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Free India is only a child of a year and a half. It has yet to learn to walk; it has
to grow, to be strong, and its future depends upon how we build today. Therefore,
we have to nurse it carefully; we have to feed, clothe and strengthen it properly.
It is our great good fortune that we have here a rare opportunity to build our own
country in our own fashion. History will record what we are doing today.

The first requisite for building a strong, free India is unity and peace. If there is no
unity in the country, it is bound to go down. Therefore, we must first of all adjust
our differences and behave in such a manner that there is complete harmony and
peace in the country. You cannot expect the Government continuously to maintain
peace by force. It would be an evil day when in this country the Government
has to use repressive measures permanently. Today we are passing through a
period of crisis and our young men have, in their impatience, not realised that the
freedom which has been obtained with great difficulty is likely to be lost or likely
to give no benefit, no advantage, if we do not appreciate that our present duty is
to unite and consolidate our freedom.

For unity, we must forget differences of caste and creed and remember that
we are all Indians, and all equal. There can be no distinction between man
and man in a free country. All must have equal opportunities, equal rights and
equal responsibilities. This is difficult for achievement in practice, but we must
continuously strive towards that end.

- Sardar Vallabhbhai Patel
(Excerpt from Build a Strong India Speech at Island Grounds)

NOAe QL /
OBTAINED
MARKS

§C LRl /
TOTAL
MARKS: 10




STM-1
Us-10. || Yol uHIAl Al 50Ul ALl Ysllell Gl UL, (1x20=20 Q) || | Rodcate
0.1 : 3(@uAotell Ael UL Al cllsAHl Yol 52U, MARKS
§CL QL /
20.1.9 WSl ollsadl VARK.
NNAd ol /
OBTAINED
90.? : $8ccloll A UHs Al MARKS
§CL LR/
20.2.4 AWeY clol AWLSY Yl
NN 24l /
OBTAINED
0.3 : AHRAl (Qats 531 Aell dow L. ;ffjis/
TOTAL
20.3.14 AsRxd MARK: 1
AOAe YL /
. . OBTAINED
0.¥ : Ulsclell € oLl MARKS
§CL QL /
20.¥.9 Al AAR AAUR & Asssl ! A oflw 2% Holl. Niving
ANAc 24l /
0.4 : BesR BauLdl. “VARKS
§CL LR/
0.U.1 S8 Hrl AV HIES A SIUAL MRl &cll. TOTAL
MARK: 1
NNAc 2L /
0.6 : AGEUHE HIZ A5 AcE L. OWARKS
§CL LR/
10.5.9 ¥ol ollA A c(sel TOTAL
MARK: 1
NOAc 24l /
0.9 : ool Sl Yl e
§CL QL /
10.9.1 Cﬂﬁ@. TOTAL
MARK: 1
. AOAe YL /
20.¢ : atsaui Asellell gl Yurl, ORTAINED
10.¢.4 ARl ua wlelell Wy llat yoia dlet ASA. e
MARK: 1
. AOAe JYuL /
0.¢ : oeo(l Al L3\ OBTANED
§CL QL /
0.€.91 URUR TOTAL
MARK: 1
. AN A QL /
10.90 : clsARAall A WU YAoll Yol Gl Ul OBTAINED
MARKS

10.10.9 Al cligel olollcll | wIsl2 YER Tullad .

§CLoLaL /
TOTAL
MARK: 1




STM-2

®

Q. 3.

Code : STM-2
Paper-2 : ENGLISH

Max. Marks : 100 Time : 3 Hours

Write an essay on any ONE of the following in minimum 250
to maximum 300 words. It must exhibit your grasp and critical
understanding of the subject in the best possible individual style
having originality of thought and expression. It must be well-argued
piece of writing coherently and sequentially with observance of
grammatical rules.

I.  Self-knowledge is necessary for success and inherently an essential
good.

II. Solid waste management poses a major environmental challenge in
urban areas.

[ll. Digitization is transforming education sector.
IV. Solutions for traffic jam problems.

V. Should Gujarat have a bicameral legislature?

Imagine you are an Office Superintendent in your office. The office is
facing an issue of termite which has been damaging and destroying
important documents and furniture of the office. Your senior officer
has sought your opinion about the needful actions to be taken to
address the said issue. Write a letter, in about 150 words, to your
senior officer suggesting necessary measures.

Write a report in about 200 words on your recent undergoing a
training program of Information Security and Cybercrimes.
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Q. 5. The Tax Department of the state has organized an open house || |OBTAINED
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function of the program.
Q. 6. Write a precis of the following passage in about one-third of its || [osTaneD
original length. MARKS
Itis true that an oil spill can have severe short-term effects, especially when
organisms are considered on an individual basis. However, environmental TOTAL
MARKS : 10

impacts should always be measured in a scientific context and should be
appraised at an ecosystem rather than individual level. In other words, it
is important (or more representative of long-term environmental effects) to
base the extent of environmental damage on the effects to ecosystems. For
example, has the ecosystem retained its normal functions or how quickly
will they resume following an oil spill?

Under normal conditions many of the ecosystems most frequently affected
by marine oil spills are accustomed to natural disturbances. For example,
shallow coral reefs are some of the most dynamic environments, frequently
exposed to the intense forces of typhoons and tsunamis. Disturbances of
this nature typically create space for new organisms to settle and grow. In
time, natural processes repair damage caused by such events, returning an
ecosystem to its previous functions, albeit potentially comprised different
individual organisms. Natural recovery processes are also important in
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remediating the effects of oil spills. Recovery can be assisted by the removal
of oil through well-conducted clean-up operations, and may sometimes be
accelerated with carefully planned restoration measures.

The effects of an oil spill will depend on a variety of factors including,
the quantity and type of oil spilled, and how it interacts with the marine
environment. Prevailing weather conditions will also influence the oil's
physical characteristics and its behaviour. Other key factors include the
biological and ecological attributes of the area, the ecological significance
of key species and their sensitivity to oil pollution as well as the time of
year. It is important to remember that the clean-up techniques selected will
also have a bearing on the environmental effects of a spill.

Read the following passage carefully and answer the questions that
follow. (5x2=10)

Ice acts like a protective cover over the Earth and our oceans. These
bright white spots reflect excess heat back into space and keep the planet
cooler. In theory, the Arctic remains colder than the equator because more
of the heat from the sun is reflected off the ice, back into space.

Glaciers around the world can range from ice that is several hundred to
several thousand years old and provide a scientific record of how climate
has changed over time. Through their study, we gain valuable information
about the extent to which the planet is rapidly warming. They provide
scientists a record of how climate has changed over time.

Rapid glacial melt in Antarctica and Greenland also influences ocean
currents, as massive amounts of very cold glacial-melt water entering
warmer ocean waters is slowing ocean currents. And as ice on land melts,
sea levels will continue to rise. Sea ice forms and melts strictly in the
ocean whereas glaciers are formed on land. Icebergs are chunks of glacial
ice that break off glaciers and fall into the ocean. When glaciers melt,
because that water is stored on land, the runoff significantly increases the
amount of water in the ocean, contributing to global sea level rise. Sea
ice, on the other hand, is often compared to ice cubes in a glass of water:
when it melts, it does not directly change the level of water in the glass.

Questions:
. How ice acts as a protective cover of the Earth and our ocean?

Il. How do we get the scientific record of how climate has changed
over time?

lll. What is the impact of melting of glaciers in Antarctica and
Greenland on ocean currents?

IV. Why is global sea level rising?
V. Give a suitable title to the passage.
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(B) have been asking / was receiving

(D
(E

)
)

(C) ask/ receive
) asked / have received
)

have asked / have been receiving

The students have been punished by the teacher for negligence
of duty. (Change the voice).

(A) The teacher has punished the students for negligence of duty.
(B) The teacher had punished the students for negligence of duty.
(C) The teacher punished the students for negligence of duty.

(D) The teacher have punished the students for negligence of duty.

(E) None of the above

He asked where his belongings were. (Change into direct speech)
(A) He said, “Where were my belongings?”

(B) He said, “Where my belongings had been?”

(C) He said, “Where are my belongings?”

(D) He said, “Where would my belongings be?”

(E) None of the above.
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Many people want to travel the world. (Transform the given
sentence into negative)
(A) Many people want to travel the world, isn’t it?
(B) Many people doesn’t want to travel the world.
(C) Don’t many people want to travel the world?
D)
)

(E

—

Not many people want to travel the world.
None of the above

Although in the group knew that had ever tried to climb
the mountain by this path before, they all seemed very confident.

(A) someone / nowhere

(B) no one/anywhere

(C) everyone/no one

(D) anyone / somebody

(E) everything / anyone

She hired a removals company clearing out all that junk.

(A) behind

(B) to

(C) into

(D) onto

(E) for

When he entered the room, his mother him because he
hair and a beard. He looked totally different.

(A) wasn’t recognizing / was growing

(B) hadn’t recognized / grew

(C) didn’t recognize / had grown

(D) didn’t recognize / had been growing

(E) hadn’t recognized / was growing
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The swimmer to be in difficulty, but he to reach the
shore in the end.

(A) seems/manages
) seemed / has managed
) has seemed / managed
(D) seemed/ managed
)

was to seem / managed

Keep at bay (Choose the correct meaning)

(A) Keep at a distance

(B) Keep at the seashore

(C) Keep in mind

(D) Keep thinking about something
(E) None of the above

(A) To make sure

To annoy

)

(C) To pacify
) To flatten out
)

To invite

Choose the correct antonym of ‘Dearth’.
(A) Abundance

(B) Shortage
(C) Famine
(D) Meagre
(E) destitution
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13.

14.

15.

Choose the correct one word substitution for ‘One who cannot
be changed or reformed’.

(A) Invulnerable
(B
(C
D
(E

Hardened

Repentant

—

)
)
) Incorrigible
) penitent

We are unable to send you a brochure at the moment, but we will
send you one ____ new stock arrives.
(A) before
(B) until
(C) as soon as
D)

)

(E

while

—

although

My friend is a officer.

(A) navval

Choose the correct meaning of ‘bat’.
(A) an implement used to hit a ball

a nocturnal flying mammal

)

(C) an angry mood
) A and B only
)

A, BandC
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